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PAU 2001
Pautes de correccié LOGSE: Tecnologia Industrial

Série 4

Primera part
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Segona part

OPCIO A

Exercici 3
F _F F 500

Sjunta hb b 2.10%.25.10°3

_F _ 500
Sp 5.25.107°
_A _o 4

T TE 70407 S 014107

=10 mm

b) o = 4 MPa

C) €
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Pautes de correccié LOGSE: Tecnologia Industrial
Exercici 4
8) Nigmpor = T Npno =0,01:1450=14,50 min™! ;v =or = %o,z ~0,3037 m/s
FV
Fh Fcable:mg=1200'10=12kN
b) Fn,=m gsina=1200-10-0,5=6 kN
mg
mg F,=mg+m gcosa=1200~10-(1+§)=22,39kN
¢) Piambor = Feable V = 12000-0,3037 = 3,644 kW
Prmotor = Prambor / Nreq = 3,644 /0,75 = 4,859 kW
OPCIO B
Exercici 3
S 1,5

a) P=12AT =17-212=3060 W
e 0,01

b) E =Pt =3,060-8 = 24,48 kWh
Ecomb _ Etermica _ 3060 -8-3600

c) c= 5 = 2,962 kg
Pc Pc 7 35-10°.0,85
Exercici 4
8) Poec = Prag M = Siota & M = 60-1:0,052-800-0,1 = 37,7 W

b) I=P/U=37,7/12=3,142 A

¢) Dues tirades en paral-lel de 30 cél-lules cadascuna.



